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1. am × an is equal to

(a) a(m + n)

(b) a(m – n)

(c) amn

(d) a(n – m)

2. am ÷ an is equal to

(a) a(m − n)

(b) a(m+n)

(c) amn

(d) a(n – m)

3. (am)n is equal to

(a) am + n

(b) am − n

(c) amn

(d) an − m

4. If a ≠ 0, then the value of a0 is

(a) 0

(b) 1

(c) 2

(d) −1

5. Find the multiplicative inverse for the given expression. The expression is 7−2

(a) 72

(b) 7



(c) 1/72

(d) 1/7

6. 22 x 23 x 24 can be expressed as

(a) 224

(b) 2−5

(c) 29

(d) 2−9

7. (−1)20 =

(a) −1

(b) 1

(c) 0

(d) 20

8. In 102, the exponent is

(a) 1

(b) 2

(c) 10

(d) 1.

9. The multiplicative inverse of 2/3 is

(a) 2/3

(b) 3/2

(c) 3

(d) 1

10. 3² × 3−4 × 35 is equal to

(a) 3

(b) 3²

(c) 3³

(d) 35



11. 149600000000 is equal to

(a) 1.496 × 1011

(b) 1.496 × 1010

(c) 1.496 × 1012

(d) 1.496 × 108

12. 0.00001275 is equal to

(a) 1.275 × 10−5

(b) 1.275 × 10−3

(c) 1.275 × 104

(d) 1.275 × 103

13. The value of 2−2 is

(a) 4

(b) ¼

(c) 2

(d) ½

14. The multiplicative inverse of is

(a) 2−2

(b) 22

(c) 2

(d) 1

15. 3−2 × 3−5 is equal to

(a) 3−7

(b) 3−3

(c) 3−10

(d) 37


